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The exam consists of two parts.  Part I contains 10 multiple choice questions.  Circle the letter of the correct answer.  Each is worth 3 points for a total of 30.  Part II contains short answers.  Answer all three questions in this section.  It is worth 69 points.

You have the entire class period to complete the exam.  Do not begin until you are told to do so.

Part I. Multiple Choice.  3 point each.  Circle the correct answer.

1. 
Your opportunity cost of attending college does NOT include

a. the money you spend on meals while at college.

b. your tuition.

c. the money you spend on traveling between home and college.

d. the income you could have earned if you had been employed full-time. 


2.
If your city government sets a maximum amount landlords can charge in rent, what is the most likely result?

a. There will be more apartments available than people want to rent.

b. There will be fewer apartments available than people want to rent.

c. The number of apartments available will be equal to the number of people who want to rent.

3.
Which of the following is the closest definition of the term "capital"?

     a. Government bonds.

     b. Depreciation.

     c. Goods produced for present consumption.

     d. Goods used to produce other goods.

4. 
Consumers expect their income to rise.  For a normal good, this would result in an increase in

a. quantity demanded and a fall in price.

b. demand and a fall in price

c. quantity demanded and a rise in price.

d. demand and a rise in price.

5.
The Federal Government spends the most money on which of the following?

a. defense

b. transfers to low-income people ("welfare")

c. transfers to the elderly (social security, medicare, etc.)

d. foreign aid

6.
GNP minus ________ and minus_______ equals national income.


a.  investment, depreciation.


b.  indirect taxes and plus subsidies, depreciation.

c.  indirect taxes and plus subsidies, net investment.

d.  depreciation, net investment.

7.
Which of the following is NOT included in the calculation of

     the Gross Domestic Product?

a. The purchase of a Milky Way bar by someone under 16 years old.

b. A tourist buys a tacky model of the Washington Monument.

c. A thief steals the model of the Washington Monument from the tourist

d. The salary of the policeman who arrested the thief.

8.
Which of the following can be used to predict when recessions will occur?

a. the GDP Price Deflator.

b. the Index of Leading Economic Indicators.

c. the Gross Domestic Product.

d. the prime rate.

9.  
A commercial bank offers a nominal interest rate on savings of 6%.  The expected inflation rate is 5%.  The expected real interest rate is

a. -1%

b. 1%

c. 11%

d. 6%

10. The population of Arbez is 110, all of whom are aged 16


years or older.  Of these, 80 have jobs and 30 do not.  

Of the 30 without jobs, 20 are actively seeking work and 10 have given up the job search in frustration.  The unemployment rate in Arbez is


a. 80%


b. 20%


c. 10%


d. 16.5%

Part II. Answer all questions.  23 point each.

Given a fixed amount of capital, land, entrepreneurial ability, and a fixed technology, the chart below shows how many Milky Way bars can be produced in one hour by different amounts of labor.


Number of Workers

Milky Way bars
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1
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5
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8



4




10



a. Plot these points on a graph.  Use these points to draw a Production Function.

b. Does the Production Function that you drew in a exhibit Diminishing Marginal Returns?  Explain.

c. Using the graph you drew in a, show how the production function would change if the amount of capital available to the workers increased.

d. Assume that the supply curve for Milky Way bars is Qs=50+5P and that the demand curve is Qd=100-5P.  What is the equilibrium price and quantity in this market?

2.
a.
The nominal GDP in year 1 is 1000, and the GDP Price Deflator (a price index) is 100.  Calculate the real GDP in year 1.

b.
The population is 100.  Using the information in a, calculate the real per capita GDP in year 1.


c. 
The real GDP for year 2 was 1000.  Calculate the 



economic growth rate between year 1 and year 2.

d.
Draw a circular flow diagram and use it to explain why an increase in spending by the government is likely to decrease unemployment.

3. 
a.
Explain how the Consumer Price Index (CPI) is calculated.

b.
Give one reason why the measured rate of inflation might overestimate the true rate of inflation?

c.
Give one reason why measured unemployment might under-estimate the true extent of the unemployed population?

d.
Why is the rate of unemployment for teen-agers higher than the unemployment rate for older workers?

